Physical Science Quiz 4

Name ___________________
Date ___________

Period ________

1. List and draw all of the 6 simple machines.


[image: image1]
2. How much water (height) can be held up in a tube closed at the top, but left open at the bottom, at sea level?


_______________

3. You are walking across the lawn at 5 m/s when your cat runs in front of you and chases the neighbor’s rabbit that just got loose. You increase your speed to a final sprint speed of 50 m/s. This took 9 seconds. What was your acceleration? (include units!)
Show the calculation.

______________
4. Which doesn’t expand as easily in a vacuum chamber, a water balloon, or balloon of air? Why?


______________ because ____________________________


_________________________________________________


_________________________________________________

5. Pressure is measured in what units?


________________

6. Mathematically speaking, what is Force? 

_______________________________

7. Circle the most appropriate weight for you on the Moon?


100N, 16N, 400N, 74N
8. Explain how Pascal’s Principle can be used to pick up heavy objects. Include schematic drawing.
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______________________________________________________

______________________________________________________

______________________________________________________

______________________________________________________

______________________________________________________

9. Explain Bernoulli’s Principle, and draw and label an example.
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______________________________________________________

______________________________________________________

______________________________________________________

______________________________________________________

______________________________________________________

10. What are the units for work? _________________

11. If you suck on a straw which is attached to a non air-tight bottle, does the drink come out better or worse than an air-tight bottle? Why? 


_________________ because _________________________

______________________________________________________

12. Which does more work and why? Person A uses a force of 3N to move an object 5 meters. Person B uses a force of 5N and moves an object 2 meters.


_______________________ because ___________________

______________________________________________________

______________________________________________________

______________________________________________________

______________________________________________________
